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FAQs about Test Items

Question about test administration: Why do we have to ask all items at any level of the test the child
progresses to if they fail the first few items at this level? Won't this be frustrating to the child?

Answer: Although each level of the test is more difficult than the previous level, the test questions within each
level are not sequenced in order of difficulty. They are sequenced to maximize comprehension of the test
question. Thus, a child could easily fail the first few questions at a level and succeed on subsequent questions
at this level. To ensure that you give the child every opportunity to demonstrate her number knowledge, it is
imperative that you ask all questions at any level you progress to.

Question about the Visual Array in item 6a at Level 1. Why do we show a visual array? Won't this lead
children to try to measure the physical distance between numbers on the page?

Answer: The visual array was included to provide a counterweight to some children’s tendency to choose the
number that is, auditorily, closer to the number said in the oral test question. You are correct in assuming that a
few children will try to physically measure the spatial distance between numbers when the visual array is used.
However, they won’t even think of doing this if they understand that numbers themselves have magnitude, and
it is this understanding that the test item was designed to measure.

Question about the Visual Array in item 9a at Level 1: Isn’t it unfair to show children written numbers that are
not sequenced in order of magnitude and ask them to point to the number they say first when counting? Aren’t
you deliberately distracting them?

Answer: Yes, the distraction is deliberate and is consistent with many items on developmental tests. It is
designed to assess the solidity of a child’s understanding of the counting sequence. If their knowledge is solid,
they won'’t be distracted. The fact that this item has remained on the test after substantial research to ensure
that the test is valid suggests that most children in the 6-year-old age range are able to pass this item in its
current form.

Number Knowledge Test
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Question about item 6 at Level 2: Why should we accept either 3 or 4 as a correct answer?

Answer: If the child understands the number sequence, she will be able to figure out that there are 3 numbers
between 2 and 6: namely, the numbers 3, 4, and 5. However, if the child uses subtraction to find the answer,
she will take 2 away from 6 and come up with an answer of 4. Although the question is worded to test number
sequence understandings, we don’t want to penalize a child for demonstrating a good understanding of
subtraction so we accept either answer as correct. By noting which strategy the child uses to solve this
problem, you can determine whether number sequence understandings need to be taught.

Question about item 3a at Level 3: The wording of this question seems very difficult for children, especially
ESL children who may not know what the word “difference” means. Can we reword this question to make it
easier to understand?

Answer: No, you cannot reword this question but you may repeat it as often as requested by the child. If the
child is functioning at the 10-year-old level mathematically, she will understand what this word means. If she
doesn’, this failure suggests that she is not functioning at age level and needs remedial instruction in
subtraction understandings.

This question also imposes demands on memory, and this adds to the level of difficulty. However, most
children who are functioning at the 10-year-old level are able to handle this memory challenge. Failure to do so
provides an indication that the child’s mental capacity (and possibly English language skills) for mathematical
problem-solving is below average and remedial instruction to foster the development of these skills is needed.

18 Number Knowledge Test

*9SN WOOISSE|D 10} 9onpoidal 0} pajuelb S| UOISSIWIDG “uolednpT |IH-MEIDIN O WBLAdoD)



Copyright © McGraw-Hill Education. Permission is granted to reproduce for classroom use.

The Number Knowledge Test

Preliminary

LetOs see if you can count from 1 to 10. Go ahead.

Level O (4-year-old level):

Go to Level 1if 3 or more are correct

1.

2a.

2b.

3a.

3b.

Can you count these Counters and tell me how many there are?
(Place 3 Counters in a row in front of the child.)

(Show stacks of Counters, 5 vs. 2, same color.)
Which pile has more?

(Show stacks of Counters, 3 vs. 7, same color.)
Which pile has more?

This time, I0m going to ask you which pile has less.
(Show stacks of Counters, 2 vs. 6, same color.)
Which pile has less?

(Show stacks of Counters, 8 vs. 3, same color.)
Which pile has less?

IOm going to show you some Counters.

(Show a line of 3 Counters of one color [A] and 4 Counters of a different color [B]
in a row, as follows: ABABABB.)

Count just the (color B) Counters and tell me how many there are.

(Clear all the Counters from the previous question. Show a mixed arrayNnot a
rowNof 8 Counters of one color [A] and 7 Counters of a different color [B].)

Here are some more Counters. Count just the (color A) Counters and tell me how
many there are.

Number Knowledge Test Level 0 19
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The Number Knowledge Test

Level 1 (6-year-old level):

Go to Level 2 if 5 or more are correct

1.

4a.
4b.
5a.
5b.
6a.

6b.

9a.

9b.

If you had 4 chocolates and someone gave you 3 more, how many chocolates would
you have all together?
(Assess strategy used by asking, “How did you figure that out?”)

What number comes right after 77

What number comes two numbers after 77

Which is bigger: 5 or 47

Which is bigger: 7 or 97

This time, I’'m going to ask you about smaller numbers. Which is smaller: 8 or 67
Which is smaller: 5 or 77

Which number is closer to 5: 6 or 27
(Show Visual Array 1 after asking the question)

Which number is closer to 7: 4 or 9?
(Show Visual Array 2 after asking the question.)

How much is 2 + 47
(Children can use fingers for counting. Assess strategy used by asking, “How did
you figure that out?”)

How much is 8 take away 67
(Children can use fingers for counting. Assess strategy used by asking, “How did
you figure that out?”)

(Show Visual Array 3 of the numerals 8 5 2 6, and ask the child to point to and name
each numeral.)
When you are counting, which of these numbers do you say first?

When you are counting, which of these numbers do you say last?

Level 1 Number Knowledge Test
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The Number Knowledge Test

Level 2 (8-year-old level):

Go to Level 3 if 5 or more are correct

1.

2.

3a.
3b.
4a.
4b.
S5a.

5b.

What number comes 5 numbers after 49?7

(Assess strategy used by asking, OHow did you figure that out?0)

What number comes 4 numbers before 60?

(Assess strategy used by asking, OHow did you figure that out?0)

Which is bigger: 69 or 71?
Which is bigger: 32 or 28?

This time 10m going to ask you about smaller numbers. Which is smaller: 27 or 32?

Which is smaller: 51 or 39?

Which number is closer to 21: 25 or 187?
(Show Visual Array 4 after asking the question.)

Which number is closer to 28: 31 or 247
(Show Visual Array 5 after asking the question.)

How many numbers are there between 2 and 6?
(Accept either 3 or 4.)

How many numbers are there between 7 and 9?
(Accept either 1 or 2.)

How much is 12+ 54?

(Show Visual Array 6. Assess strategy used by asking, OHddid you figure that

out?0)

How much is 47 take away 217
(Show Visual Array 7.)

Number Knowledge Test Level2 21
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»

3a.

3b.

4a.

4b.

The Number Knowledge Test

Level 3 (10-year-old level):

What number comes 10 numbers after 99?
(Assess strategy used by asking, OHow did you figure that out?0)

What number comes 9 numbers after 99?

Which difference is bigger, the difference between 9 and 6 or the difference
between 8 and 3?

Which difference is bigger, the difference between 6 and 2 or the difference
between 8 and 5?

Which difference is smaller, the difference between 99 and 92 or the difference
between 25 and 117

Which difference is smaller, the difference between 48 and 36 or the difference
between 84 and 73

How much is 13+ 39?
(Show Visual Array 8. Assess strategy used by asking, OHow did you figure that
out?0)

How much is 36 - 18?
(Show Visual Array 9. Assess strategy used by asking, OHow did you figure that
out?0)

How much is 301 take away 77?

22 Level 3 Number Knowledge Test
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The Number Knowledge Test Record

Total Score Raw Test Score
Name [D.0.B. Devel. Age Score
Date Grade Level
School

Teacher NW Level

Preliminary (count 1D10)

Level 0 (3 or more correct, go to next level)

Strategy Score

1. Count (3)

2a. More: 5vs. 2 2b.

More: 3vs. 7

3a. Less:2vs. 6 3b.

Less: 8 vs. 3

4. CountB (4)

5. Count A (8)

Level 1(5 or more correct, go to next level)

Strategy Score

1. 4+ 3=

CU COR

2. 7+ 1=

3. 7+ 2=

4a. Bigger:5or4 4b.

Bigger: 7 or 9

5a. Smaller: 8 or 6 5b.

Smaller: 5 or 7

6a. Closerto5: 6 or2 6b.

Closerto 7: 4 or 9

7. 2+ 4=

CU COR

8. 8b6=

CU COR

9a. First 8 5 2 6 [ 9b.

Last: 852 6

Level 2 (5 or more correct, go to next level)

Strategy Score

1. 49+ 5=

2. 60b4=

3a. Bigger: 69 or 71 3b.

Bigger: 32 or 28

4a. Smaller: 27 or 32 4b.

Smaller: 51 or 39

5a. Closerto 21: 25 or 18 5b.

Closer to 28: 31 or 24

How many numbers between 2 and 6

How many numbers between 7 and 9

6{0)

6
7.
8. 12+ 54 =
9. 47Db21=

Level 3

Strategy Score

1. 99+ 10=

2. 9+ 9=

3a. Bigger: 9b6 or 8 B3 3b.

Bigger: 6 B2 or 8 b5

4a. Smaller: 9992 or 25 B11 4b.

Smaller: 4836 or 84 B73

5. 13+ 39=

6. 36D18=

7. 301Db7=

* Denotes arithmetic item

32 Number Knowledge Test Record
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Scoring the Test

If you begin testing at a level other than Preliminary/Level 0, give the child the maximum total of 5 points for
the Level 0 items. Note that the maximum total points possible for each level is provided in the Test Record
OTotalO column. A reproducible Number Knowledge Test Record is included on page 32 of this book.

For all two-part items, both (a) and (b) must be answered correctly to earn a point. The rationale for this is that
children can easily pick one of the two Oforced-choiceO response alternatives and obtain the correct answer by
guessing. If the child answers both questions correctly, we can assume with greater confidence that she
understands the number magnitude concepts assessed with these items.

The Number Knowledge Test Record

Total Score | Raw Test Score

Name [D.0B. Devel. Age Score

Date Grade Level
School
Teacher

NW Level

| Preliminary (count 1910)

Level 0 (3 or more correct, go to next level) Strategy Score
1. Count(3) B
2a. More: 5vs. 2 2b. More: 3vs. 7
3a. Less:2vs. 6 3b. Less:8vs. 3
4. CountB (4) Total

5. CountA (8) [/5]

Level 1(5 or more correct, go to next level) Strategy Score
* [1. 4+ 3= CU CO R
2. 7+ 1=

3. 7+2=

4a. Bigger: 5 or 4 4b. Bigger: 7 or 9

5a. Smaller: 8 or 6 5b. Smaller: 5 or 7
6a. Closerto 5: 6 or 2 6b. Closerto 7: 4 or 9
* |7 2+ 4= CU CO R
* [8. 8Pb6= CU CO R Total
9a. First: 8 52 6 [ob. Last: 8526 [/9]

Level 2 (5 or more correct, go to next level) Strategy Score

* |1 49+5=

* |2. 60P4=

3a. Bigger: 69 or 71 3b. Bigger: 32 or 28

4a. Smaller: 27 or 32 4b. Smaller: 51 or 39

5a. Closer to 21: 25 or 18 5b. Closer to 28: 31 or 24
How many numbers between 2 and 6
How many numbers between 7 and 9
12+ 54 = CO Total
47D21= [/o]

Level 3 Strategy Score
% |1 99+ 10=

2. 99+ 9=

3a. Bigger: 9D6 or8D3 3b. Bigger: 6 D2 or 8 B5

4a. Smaller: 99992 or 25 D11 4b. Smaller: 48D36 or 84 D73
% |5. 13+ 39=

* |6. 36D18= Total
7. 301D7= [17]

* Denotes arithmetic item

32 Number Knowledge Test Record
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